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(iii)
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(vi)
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@UE & H Y97 g7 1 & 20 7% 20 I97 & 09 Id% J97 1 37 F1 & |

@S @ 7 J97 &7 21 T 26 7% 6 J97 3 Td JI% Y97 2 3h] FT & |

@UE T H 97 G727 & 32 T% 6 ¥ & U Ycdb YA 4 HH #T 8 |

@UE T 7 J97 G&I7 33 T 36 7% 4 F97 3 T FI% Y97 6 bl HT & |

Jo7-U7 § THY W I3 15T 787 8 | AT TH-UF 37 JIe @17 T 8, 3-3) 37!
g7 1 ¥o 1 4, IR-IR 37H] 91t g1 J9 7 3K T:-T: 3Pl qict g Fodl § Harb
fa%ey 20 70 § | 04 3991 & @ 3907 U & [9%ey &7 I 7 |

3T AR, HTIFATAR, Fid GUE 3 Jo7 & T Jed Haw1 13T 17 & |
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@usg <h

X7 G&IT 1 § 20 7% A% o7 1 37 H1 & |
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1.

Ifg AhiIfe 31 T o7t MY B A |A| =578, @ |2A'| I HH &M
(A) -10

(B) 10

(C) -40

(D) 40

Ifc AT a1 TG & A AZ= AT, A (1-A)3 + A T &
A I

B O

C) I-A

M) TI+A

tan~! (tan 3?”)?*7 & A &

2n
(A) 5

— 27
(B) 5

3n
(®); =
(D) —-3n

5
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four Sections A, B, C and D. This question
paper carries 36 questions. All questions are compulsory.

(it)  Section A — Questions no. 1 to 20 comprises of 20 questions of 1 mark each.

(iti) Section B — Questions no. 21 to 26 comprises of 6 questions of 2 marks each.

(iv) Section C — Questions no. 27 to 32 comprises of 6 questions of 4 marks each.

(v) Section D — Questions no. 33 to 36 comprises of 4 questions of 6 marks each.

(vi)  There is no overall choice in the question paper. However, an internal choice
has been provided in 3 questions of one mark, 2 questions of two marks,
2 questions of four marks and 2 questions of six marks. Only one of the choices
in such questions have to be attempted.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A
Question numbers 1 to 20 carry 1 mark each.
Question numbers 1 to 10 are multiple choice type questions. Select the correct option.

1. If A is a square matrix of order 3 and |A| =5, then the value of | 2A’ | is

A -10
B) 10
(C) -40
(D) 40
2. If A is a square matrix such that A%2=A, then (I-A)3 + A is equal to
A 1
B 0
< I-A
D) I+A

3. The principal value of tan™! (tan 3?713) is

(A) %"
B) = 52“
(©) 3?"
® =

Class X11 Maths www.esaral.com 3
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- -
4. AR ERW 2 =1-2] +3k FARH b =21+ Ak W VT Y= B, A A Hw

HH g
A 0
(B) 1
)
(®); ry
-3
(D) >

5. EHAA z = 0 dead ad1 65 (-1, 5, 4) § ToRA JTel @1 1 Hiex FHieR
B

RN A A A A A
(A) r =—i+5j +4k +A(i+j)

B) T =—i+5] +@+n)k
© T =1-5)-4k+1k
D T =ik

6. Il 29T 3Tahal HIHIUT o foRIy g § T= 3= <l Tl gt

A 0

B 1

< 2

(D) 3
4

7 J‘ sec? x dx SR 3

4

A -1

B) 0

< 1

(D)
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- A A A - A A
4. If the projection of a =i-2j +3k on b = 2i + Ak is zero, then the
value of A is
A 0
B) 1
_2
C -4
(®) 3
-3
D i
(D) 5

5. The vector equation of the line passing through the point (-1, 5, 4) and
perpendicular to the plane z = 0 is

- A A A A A
(A) r =—1i+5j) +4k +A(i+j)
— AN AN A
(B) r =—i+5j +A4+0Mk
- A A A A
C r =i-5j -4k +A1 k
@ T =ik
6. The number of arbitrary constants in the particular solution of a
differential equation of second order is (are)
A 0
B 1
© 2
D) 3

T
4
7. J. sec® x dx is equal to

I
A -1
B) 0
© 1
D) 2

Class X11 Maths www.esaral.com 5



https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


¥Sara I JEE | NEET | CLASS 8 - 10 Download eSaral APP [ ()

8. Tog(4,-7,3) 8 y-3181 W S T v hl dFTs BN

(A) 33HT
(B) 431
(C) 53HT
(D) 73HTS
9. AR A3 B wdd weant ¥, &l P(A) = % 9 P(B) = i 3, @ PB'|A)

T B

1
@

1
(B) 3

3
© =
D) 1

10. Rgs @RS % Mo 8§ ¥ gama & % HE 605 (0, 0), (4, 0), (2, 4)
qAT (0,5) 3 | AMG z = ax + by, &l a, b > 0 T fehan °H famgati (2, 4) q°M

(4, 0) 3T W&,
(A) a=2b

(B) 2a=b

(C) a=b

(D) 3a=b

J97 G 11 G 15 T & ¥ 3941 & @refl T 9RT |
11. 3If¢ 99 ay, a5 € A % T[T (ay, ay) € R¥ (ay, a;) € R &, a1 F=F A
R gRTiva B9 R waamar 3 |
12. flx) = [x], 0 < x < 2 G IRWIYG TgaH YOI Bad x = R
AIHA T8l BT B |
13. 9¢ 3R AhHI HIE 3 x 27, A1 3G A 3l Hife grft
Jrera

T it ey A fovnognfia smegg A, Aafe
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8. The length of the perpendicular drawn from the point (4, —7, 3) on the

y-axis is

(A) 3 units
(B) 4 units
(C) 5 units
(D) 7 units

9. If A and B are two independent events with P(A) = % and P(B) = i, then

P(B' | A) is equal to

1
(A) 1

1
(B) 3

3
(C) 1
(D) 1

10. The corner points of the feasible region determined by the system of
linear inequalities are (0, 0), (4, 0), (2, 4) and (0, 5). If the maximum value
of z = ax + by, where a, b > 0 occurs at both (2, 4) and (4, 0), then

(A) a=2b
(B) 2a=b
(C) a=b

(D) 3a=b

Fill in the blanks in question numbers 11 to 15.

11. A relation R in a set A is called , if (a;, ag) € R implies
(ag, a7) € R, for all a;, a5 € A.

12. The greatest integer function defined by f(x)=[x],0<x<2 is not
differentiable at x = .

13. If A is a matrix of order 3 x 2, then the order of the matrix A’ is

OR
A square matrix A is said to be skew-symmetric, if

Class X11 Maths www.esaral.com 7
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14. o3k y2 = 8x o Yol-foirg W AT 1 qHflertu 2

e
TS g 1 B THE Y F 3 em/s T R W qG W R | IF HOU W &R I
ﬁWZcm%,ﬂﬂ%@ﬁWﬁ cm@sﬁﬂ?@ﬁ@ﬁﬁ@"ﬁl

15. @ fwgel A @ B % feu wRw wmw: OA=2i - ) -k o
0B =2i - § +2k # | fag P, <t Ywrave AB# 2: 1% s # fwf
war e, w feafaafere

97 G 16 8 20 37 G199 IR a1 Jo7 8 |

2 0 0
16. 3Ifc A=|-1 2 3|2, d A(adjA) T HifvT |
3 3 5
17. Waﬁﬁm:
jx4logxdx
AT
3Ta il
j 2x dx
3x2+1
18. UM 9 HIfST :
3
I|2X—1|dx
1

19. d i 52 UGl AT =B YRR H Hel T TS H W Aigesdl adn o
TIRETIAT o Teh-Teh X o &1 U fehled T | Teh Il WTed qT g8l shied T h
3 I TR ATd HINT |

20. A hIfT ;

j dx
9 — 4x2
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14.

The equation of the normal to the curve y2=8x at the origin is

OR

The radius of a circle is increasing at the uniform rate of 3 cm/sec. At the
instant when the radius of the circle is 2 cm, its area increases at the rate

of

cm?/s.

15.

—> A A A
The position vectors of two points A and B are OA = 2i — j — k and

- A A A
OB = 2i — j + 2k, respectively. The position vector of a point P which

divides the line segment joining A and B in the ratio 2 : 1 is

Question numbers 16 to 20 are very short answer type questions.

0

3|, then find A (adj A).

5

Two cards are drawn at random and one-by-one without replacement

from a well-shuffled pack of 52 playing cards. Find the probability that
one card is red and the other is black.

2 0
16. If A=|-1 2
3 3
17. Find:
J x4 log x dx
OR
Find :
j 2x dx
3\/)(2 +1
18. Evaluate:
3
J. | 2x —1|dx
1
19.
20. Find:
J' dx
\9 — 4x2
Class X1 Maths
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fCRERC]

J97 G&IT 21 G 26 T Jedb J972 3hl HT & |

21.

22.

23.

24.

25.

26.

fg <hifsre 6

sin~1 (2x 1—x2)=2cos_1x, 1 <x<1.

v2

HAAAT

f:R, > (7, ), f(x) = 16x2 + 24x + 7 GRI IRAING Tehehl 3R AT=BIEH B
W formm i, S&T R, 94l FTcHeh aTEdfosh H@ATT 1 §H=T 8 | Had £l
YA Be FTd hifg |

2
Ife x = at?, y=2at§,ﬁ 3—}27 ITa iR |
X

Thy = x3 - 3x2 - 4x & 9 fog 7@ Afw 7 = weid, @
4x +y—3=0%% THI & |

wﬂmaﬁﬂwﬁ?ﬁﬁmﬁmm ﬁ?b%«u—qqd@ Sl
a=5i+6] —2k 3 b=7i+6] +2k.

HAAAT

- —
39 {‘IHICI{ qd“hﬂ‘* hl AT JATd é”z_ﬂq W W QEIQ 28. —b d9YT 3¢
‘gmﬁ“aﬁa%, S

k =T 98 HM F1d shifoe e foft Wl x = — y = kz qen
Xx-2=2y+1=-2+1THGH WA ¢ |

Teh o3 I8 X W, g8 o<t fe i Tesdt 30% 2 | 39 908 X W |
g AR g {7 &6 st & fie 6 wilesar | R 2
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SECTION B

Question numbers 21 to 26 carry 2 marks each.

21.

22,

23.

24.

25.

26.

Prove that sin=1 (2x /1 — x2 )=2cos1x 1.

) % <x<
OR

Consider a bijective function f: R, — (7, «) given by f(x) = 16x2 + 24x + 7,

where R is the set of all positive real numbers. Find the inverse function

of f.

d2y
If x = at?, y = 2at, then find —5 -

dx
Find the points on the curve y = x3 — 3x2 — 4x at which the tangent lines
are parallel to the line 4x + y — 3 = 0.

- —
Find a unit vector perpendicular to each of the vectors a and b where

- A A A —> A A A
a=5i+6j —2k and b=7i+6j +2k.

OR

Find the volume of the parallelopiped whose adjacent edges are

- - -
represented by 2a ,— b and 3 ¢ , where

—> A A A
a=1-j +2k,

—> A A A
b=3i+4j -5k, and
—> A A A

c =2i—j +3k

Find the value of k so that the lines x =—y =kz and

X —2=2y+ 1=-1z+ 1 are perpendicular to each other.

The probability of finding a green signal on a busy crossing X is 30%.
What is the probability of finding a green signal on X on two consecutive

days out of three ?

Class X11 Maths www.esaral.com
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Qs 1

o7 &IT 27 G 32 T JdF 7 4 371 HT & /

27.

28.

29.

30.

31.

32.

AT N Thd S&A131 &1 99=F 3 | 999 R, N x N'® “(a, b) R (¢, d) Afg 3R
shad Ifc ad = be, @4t a, b, ¢, d € N & fou” grr uftenifea 2 | fewmsy o @ey
R T do3dl 999 7 |

2

e y=e* “* 4 (cosx)X &, ?Wﬁﬁml
X

A <hHITT

I sec3 x dx

3Tghed THIHT y oY dx = (y3 + 2x eY) dy T ST & HTd hIY |
Jrran

TRl FHIR x %:y—xtan (Xj,aﬁx=1my=%%,wﬁmsa
I HIT |

T Heflel AN IO AT Sl Wi A1 HiEAr A1 EI b GASEl § o
e g | e o foTw 39 9| T 50,000 8 3R 3Tk U Afeehan 35 aEq
I W % IU T 3Uetey ¥ | U HT 1 BT GoF T 1,000 F Th A
%I ged T 2,000 § | 39 SR T T FHT s=h T 150 9 Th Bl 1 Siehl

T 250 T 1Y A AT 8 | I9Yh GHEA o oTu Afehan @y Afid & o
U wh ges MU TEET SAET SR AT faft O wwen g i |

I IR I d | 94 10 3 ATA qAT 5 Hledt g & Safeh I 11 H
4 A TAT 3HICA e & | O 16 I [1H T g Ageadl TAFARA i STt
® 3 dcazend O 11 H & wh Tie Irgesar Mereh T § | 9fe ag Frebreft T8
g IS g @, A TAMART I TS TG o B TT 6 B I TRERAT HG
SHifT |

HAAT

Teh hat¥l H 5 e, 2 F%he AT 3 it e 2 | Teh-Ueh ohich, foHT fa&emoHT &,
39 HAY U 3 T Ao Hehlalt S & | Fhg g1 shl F&AT 1 JTRIhAT S
a0 hifvTe | FehTelt 8 The Tial sl ST i J1eT 9 JEOT it 3T shifeie |
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SECTION C

Question numbers 27 to 32 carry 4 marks each.

27.

28.

29.

30.

31.

32.

Let N be the set of natural numbers and R be the relation on N x N
defined by (a, b) R (¢, d) iff ad = bc for all a, b, ¢, d € N. Show that R is an
equivalence relation.

_ x%cos X < dy
If y=e + (cos x)X, then find e

X
J. sec3 x dx

Find the general solution of the differential equation

Find :

y eY dx = (y5 + 2x eY) dy.

OR
Find the particular solution of the differential equation
X d—y=y—xtan (y]’ given that y = T atx=1
dx X 4

A furniture trader deals in only two items — chairs and tables. He has
T 50,000 to invest and a space to store at most 35 items. A chair costs

him ¥ 1,000 and a table costs him ¥ 2,000. The trader earns a profit of
T 150 and T 250 on a chair and table, respectively. Formulate the above

problem as an LPP to maximise the profit and solve it graphically.

There are two bags, I and II. Bag I contains 3 red and 5 black balls and
Bag II contains 4 red and 3 black balls. One ball is transferred randomly
from Bag I to Bag II and then a ball is drawn randomly from Bag II. If
the ball so drawn is found to be black in colour, then find the probability
that the transferred ball is also black.

OR

An urn contains 5 red, 2 white and 3 black balls. Three balls are drawn,
one-by-one, at random without replacement. Find the probability
distribution of the number of white balls. Also, find the mean and the
variance of the number of white balls drawn.

Class X11 Maths www.esaral.com
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Qug u
97 G 33 T 36 T IAH J97 6 37h] FT & |
1 2 -3
33. I A =3 2 —2| B, @ Al F@ KIS M TR TIT Hh
. | 1
Freafefaa et fepr 1 ga 39 I
X+2y—-3z=6
3x+2y—-2z=3
2x —y+z=2
reraT

TRt = TUTerE! T TET Heh, fag Hifre 6

b+c)? a2  be
(c+a)® b2 cal=(a-b)(b-c)(c—a)(@a+b+c)@a2+b2+c2)
@a+b?2 2  ab

34. THheH fafa &, B ek s (2, - 2), (4, 5) @ (6, 2) &, ¥ FR & =1
&Rthel ST Shifoly, |
35. Te@Ry foh BT r 3 S99 h o TFE-IRE WP o A SAUhaH A

-G ST hl HaTS, WP hl HaTs hl Th-[IETE & N doH 1 Aeehad

W,%%ngﬁmél

36. 3T THAA 1 FHIHT 1A Hive, e fomg A2, 1, - 1) feo@ 2 qen St wwae
2x +y—z=3 3M x+ 2y +z =2 Ul {1 & oreaq 8 | Ied FHdA
g y-318F o o= I 01 off [T HIC |

HAAT

W T =31-2] +6k)+ @i v2k)dmEmaa ¥ . (=) + k)=6
& Wfdesed fog Q H fog P(- 2, -4, 7) & gt 9@ i | T pQ &1 |few
grtertor oft feafaw |
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SECTION D

Question numbers 33 to 36 carry 6 marks each.

33.

34.

35.

36.

1 2 -3
If A=|3 2 —2 |, then find A~1 and use it to solve the following
2 -1 1
system of the equations :
X+2y—-3z2=6
3x+2y—2z=3
2Xx —y+z=2
OR

Using properties of determinants, prove that

(b + c)2 a? be
(c+a)® b2 cal=@G@-b)(b-c)(c—a)@a+b+c)(@a2+b2+c2).
@+b)?2 2  ab

Using integration, find the area of the region bounded by the triangle
whose vertices are (2, — 2), (4, 5) and (6, 2).

Show that the height of the right circular cylinder of greatest volume
which can be inscribed in a right circular cone of height h and radius r is

one-third of the height of the cone, and the greatest volume of the

cylinder is % times the volume of the cone.

Find the equation of the plane that contains the point A(2, 1, —1) and is
perpendicular to the line of intersection of the planes 2x + y — z = 3 and
X + 2y + z = 2. Also find the angle between the plane thus obtained and

the y-axis.
OR

Find the distance of the point P(—2, —4, 7) from the point of intersection

- A A A A A A
Q of the line r =B8i-2j +6k)+ M2i-j +2k) and the plane
A AN AN
? .(i—j + k) =6. Also write the vector equation of the line PQ.

Class X11 Maths www.esaral.com
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Strictly Confidential - (For Internal and Restricted Use Only)
(Senior School Certificate Examination-2020)
Marking Scheme - Mathematics 65/1/1

-

1.

10.

11.

12.

13.

14,

15.

16.

General instructions:-

You are aware that evaluation is the most important process in the actual and correct assessment of the candidates. A
small mistake in evaluation may lead to serious problems which may affect the future of the candidates, education
system and teaching profession. To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully. Evaluation is a 10-12 days mission for all of us. Hence, it is
necessary that you put in your best efforts in this process.

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according to one's
own interpretation or any other consideration. Marking Scheme should be strictly adhered to and religiously followed.
However, while evaluating, answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and marks be awarded to them.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day, to
ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. The remaining
answer books meant for evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

Evaluators will mark( ' ) wherever answer is correct. For wrong answer 'X"be marked. Evaluators will not put right
kind of mark while evaluating which gives an impression that answer is correct and no marks are awarded. This is
most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different parts of
the question should then be totaled up and written in the left-hand margin and encircled. This may be followed
strictly.

Ifa question does not have any parts, marks must be awarded in the left-hand margin and encircled. This may also be
followed strictly.

Ifa student has attempted an extra question, answer of the question deserving more marks should be retained and the
other answer scored out.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

A full scale of marks (example0-100 marks as given in Question Paper) has to be used. Please do not
hesitate to award full marks if the answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours every day and evaluate 20
answer books per day in main subjects and 25 answer books per day in other subjects (Details are given in Spot
Guidelines).

Ensure that you do not make the following common types of errors committed by the Examiner in the past:-
Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on a reply

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and clearly
indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Halfor a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross (X) and
awarded zero (0)Marks.

Any unassessed portion, non-carrying over of marks to the title page, or totaling error detected by the candidate shall
damage the prestige of all the personnel engaged in the evaluation work as also of the Board. Hence, in order to
uphold the prestige of all concerned, it is again reiterated that the instructions be followed meticulously and judiciously.
The Examiners should acquaint themselves with the guidelines given in the Guidelines for spot Evaluation before
starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page, correctly
totaled and written in figures and words.

The Board permits candidates to obtain photocopy of the Answer Book on request in an RTT application and also
separately as a part of the re-evaluation process on payment of the processing charges.
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QUESTION PAPER CODE 65/1/1
EXPECTED ANSWER/VALUE POINTS
SECTION -A
Question Numbers 1 to 20 carry 1 mark each.

Question Numbers 1 to 10 are multiple choice type questions.
Select the correct option.

Q.No.
1. If Ais a square matrix of order 3 and |A| = 5, then the value of |2A’] is
(A)-10 (B) 10 (C)—40 (D) 40
Ans: (D) 40
2. If A is a square matrix such that A% = A, then (I — A)> + A is equal to
(A) T B) o ) 1-A (D) I1+A
Ans: (A) 1
. o 3n
3. The principal value of tan (tan?j
) 2 5 2% o 3 o =%
A (B) — © (D) —
21
Ans: (B) ——
5
4, If the projection of 3 =i — 2] +3k on b=2i+Ak, is zero, then the value
of A is
-2 -3
(A) 0 (B) 1 ©) = (D) —
3 2
Ans: (C 2
s: (O) 3
5. The vector equation of the line passing through the point (-1, 5, 4)
and perpendicular to the plane z = 0 is
(A) F=—-1+5]+4k+A(i+)) (B) t=-i+5j+(@+Mk
(C) T=1-5j-4k+xrk (D) F=xrk
Ans: (B) F=—i+5j+(4+1)k
6. The number of arbitrary constants in the particular solution of a
differential equation of second order is (are)
(A) 0 (B) 1 (€) 2 (D) 3
Ans: (A) 0
Class X1l Maths www.esaral.com

Marks



https://amzn.to/3OwEosm
https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


°e’Sa Fa I JEE | NEET | CLASS 8 - 10 Download eSaral APP [

\l
— A

sec” xdx
;
(A) -1 (B) 0 €)1 (D) 2
Ans: (D) 2 1
8. The length of the perpendicular drawn from the point (4, —7, 3) on the y-axis is
(A) 3 units (B) 4 units (C) 5 units (D) 7 units
Ans: (C) 5 units 1

1 1
9.  IfAand B are two independent events with P(A) = 3 and P(B) e then P(B'|A) is

equal to

1 1 3
A 5 B) 3 © 3 () 1

3
Ans: (C) n 1

10. The corner points of the feasible region determined by the system of linear inequalities
are (0, 0), (4,0), (2, 4) and (0, 5). If the maximum value of z=ax + by, where a, b> 0
occurs at both (2, 4) and (4,0), then

(A) a=2b (B) 2a=b (C) a=b (D) 3a=0

Ans: (A) a=2b 1

Fill in the blanks in questions numbers 11 to 15

11. A relation R in a set A is called , if (a,, a,) € R implies
(a,, a)) € R, foralla,, a, € A.

Ans: Symmetric 1

12. The greatest integer function defined by f(x)=[x],0<x <2 is not

differentiable at x =

13. If A is a matrix of order 3 X 2, then the order of the matrix A’ is

1

OR

A square matrix A is said to be skew-symmetric, if

Ans: A= —A'(or, A'=—A) 1

14. The equation of the normal to the curve y2 =8x at the origin is

Ans: y=0 1

Class X1l Maths www.esaral.com 3
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OR

The radius of a circle is increasing at the uniform rate of 3 cm/s. At the
instant when the radius of the circle is 2 cm, its area increases at the rate

of cm?/s.
Ans: 121 1
15. The position vectors of two points A and B are ﬁzzi_j_f( and
OB =2i-j+ 2k, respectively. The position vector of a point P which divides
the line segment joining A and B in the ratio 2 : 1 is
Ans: 27— j+k 1
Question numbers 16 to 20 are very short answer type questions
2 00
16. If A=|—-1 2 3| then find A (adj A).
3 35
Ans: A-adj(A)=A|1 1/2
2 00
S A-adj(A)=2lor |0 2 0 1/2
0 0 2
17. Find [x*logxdx
Ans: Jx“-logx dx—logX'X—S—J.l-X—de 1/2
’ 5 Jx 5
5_1 5
=X oex X 1/2
5 25
OR
Find [ X i
Ix? +1
Ans: Let,x>+1=t 2x dx = dt 1/2
jz—xdx = j}idt = [t dt SR
Ux? +1 \/z 2
3., 2/3
=—|x"+1) +c
S(x7+1) 1/2

Class X1l Maths
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3
18. Evaluate [|2x—1|dx.
1

3

3 3
Ans: J‘12X_11dx:f(zx—l)dx=B(2x_1)2} 1/2
1 1

1
=6 1/2
19. Two cards are drawn at random and one-by-one without replacement from
a well-shuffled pack of 52 playing cards. Find the probability that one card
is red and the other is black.

26 26
Ans: _Gix"C 26 1/2+1/2
2c, 51
20. Find | _dx
9—4x?
Ans I dx J' dx 1/2
Vo-4x> 73 —(2x)’
Lgin (2—Xj+c
=5 3 1/2
SECTION-B

Question numbers 21 to 26 carry 2 marks each.

21. Prove that sin™' (2X\/1— x2 ) =2cos”! x,% <x<l1

Ans: Put x=cos 0 < 0 =cos x 1/2

LH.S. =sin! (2X\/1—X2)

1
= sin"!(2cos 6 sin 0) = sin"!(sin 20) = 20 = 2cos 'x = R.H.S. 15

OR

Consider a bijective function f:R, — (7,0) given by f(x)=16x>+24x+7,
where R, is the set of all positive real numbers. Find the inverse function of f.

Ans: Lety=f(x)=16x>+24x+7=(4x+3)* -2 1
= f*l(y):X:—Vy—’;‘-H 1

Class X1l Maths www.esaral.com 5
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2

2 d7y
22. If x=at",y=2at, then find —5.
dx
dy
Ans: 4y _ dt _2a _1 1
dx dx  2at t
dt
Sy tod_ 111
dx? t? dx t? 2at 2at’ 1

23. Find the points on the curve y=x> —3x? —4x at which the tangent lines

are parallel to the line 4x+y—-3=0.

dy )
Ans: — =-4 = 3x*-6x—-4=-4 1
dx
= 3x(x-2)=0 .. x=0;x=2 172
Points on the curve are (0, 0), (2, —12) 12

24. Find a unit vector perpendicular to each of the vectors a and b

where 3 =5i+6j—2k and b=7i+6]+2k.

i ko
Ans: axb=|5 6 -2|=24i-24j-12k 1
7 6 2
. . . ~ 22 2~ 12
Unit vector perpendicular to both a and b is gl—gj—gk 1
OR

Find the volume of the parallelopiped whose adjacent edges are represented by

2d,—b and 3¢, where @ =1—j+2k, b=3i+4j—5k and ¢=2i-j+3k

2 -2 4

Ans: Volume of the parallelopiped = |3 _—4 5 1
6 -3 9

=|-24|=24 1

25. Find the value of k so that the lines x =-y=kzand x -2=2y+ 1 =-z+ 1
are perpendicular to each other.

1

) X 'y z x-2 y+§ z—1
Ans: The lines, T_—_I_T and T T = 1
k 2
. 1 1
are perpendicular .. I_E_EZO =k=2 1

Class X1l Maths www.esaral.com 6
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26. The probability of finding a green signal on a busy crossing X is 30%. What is the
probability of finding a green signal on X on two consecutive days out of three?
30_3 1

100 10

Probability of not a green signal on crossing X = 1_i _

10 10
Probability of a green signal on X on two concecutative days out of three

3 .37 7 3 3 63

= —X—X—+—X—X— 1

10 10 10 10 10 10 500

Ans:  Probability of green signal on crossing X =

SECTION-C
Question numbers 27 to 32 carry 4 marks each.

27. Let N be the set of natural numbers and R be the relation on N x N defined by
(a, b) R (c, d) iff ad = bc for all a, b, ¢, d € N. Show that R is an equivalence relation.
Ans: Reflexive: For any(a,b) € N x N
a-b=b-a
.. (a, b) R (a, b) thus R is reflexive 1
Symmetric: For (a, b), (¢, d) € N x N
(a,b) R(c,d) >a-d=b-c
=c-b=d-a

= (¢, d) R (a, b) .. R is symmetric 1—
Transitive : For any (a, b), (¢, d), (e, f), e N x N
(a, b) R (c, d) and (¢, d) R (e, 1)
= a‘d=b-candc-f=d-e
= a-d-c-f=b-c-d-e=>a-f=b-e

- (a,b) R (e, 1), .. Ris transitive 1—
. R is an equivalance Relation

Xz COSX X dy
28. Ify=e +(cosx)™, then find d_x

Ans. Letu=(cosx)* = y= g¥osx

. d—yze"z‘c"“(Zx-cosx —xz-sinx)+j—u 15

odx X
log u = log (cosx)* = logu=x.log(cosx)

Differentiate w.r.t. “x”

Class X1l Maths www.esaral.com 7
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29.

30.

——u—l t du_ * 1l X) — X tan X
o 0g(cosx) — X tanx => . = (cosx)* {log(cos X) — X tan X}

Therefore,

Find J.sec3 xdx .

Ans. Isec3 xdx = Isecx -sec? xdx = J\/1+ tan? x - sec’ xdx

(Put tan x =t ; sec’x dx = dt)

= I 1+t2 dt
= %\/1+t2 +%1ogt+\/1+t2 +c
secx-tan x

= —+llog|tanx+secx|+c
2 2

Find the general solution of the differential equation yeYdx = (y* +2xe”)dy -

d
Ans. y-efdx= (y3 + 2xey)dy =y -eyd—y =y’ +2x¢e’
X
d_X_EX = y2.e*y
dy y
A _ 72J];dy gy logyL2 1
LF. (Integrating factor) = ¢ =e —e = 7

*. Solution is

1 V| _
x-—Z:jyz'e y~7dy+c=.‘-e Ydy + ¢

y

X
2

y

— 2= 2
= =—e Y4 ¢ Or X——Yey+cy

OR

Find the particular solution of the differential equation

dy y i
X—=y-—Xtan| = i =— =
dx y (x)’ given that ¥y ) atx=1.

Ans. The differential equation can be written as:

dy vy y dy dv
—Z =< _tan= = © L =V4+Xx—
dx x X,lety VX dx dx

Class X1l Maths www.esaral.com
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dv 1
— V+xX—=V—-tanV = cotvdv=-—dx
dx X

Integrate both sides

c
log sinv =—log |x| + log c = log sin% = log ~ 2

.y T
= X'sin==c¢ Put y=— andx =1
X 4

1

.
= Slnz=0 or C:\/E 1/2

. . " 1
*. Particular solution is X-sin (lj =— 1/2
X

31. A furniture trader deals in only two items — chairs and tables. He has ¥ 50,000 to
invest and a space to store at most 35 items. A chair costs him I 1000 and a table
costs him ¥ 2000. The trader earns a profit of ¥ 150 and ¥ 250 on a chair and
table, respectively. Formulate the above problem as an LPP to maximise the
profit and solve it graphically.

Ans. Let No. of chairs = x, No. of tables =y
y Then L.P. P. is:
Maximize (Profit) : Z = 150x + 250y 1
XF2y =32 0 (0, 25) Subject to : x +y < 35
20 1000x + 2000y < 50000 = x +2y < 50 1
. B (20, 15) X.y>0
, C(35,0) 1
X< 10 20 30 Q o x  Correct graph 15
y x+y=35 Corner: Value of Z
A(0, 25) 6250
B(20, 15) 6750 (Max) 1/2
C(35,0) 35250
. Max (z) =% 6750
Number of chairs = 20, Tables = 15

32.  There are two bags, I and II. Bag I contains 3 red and 5 black balls and Bag II
contains 4 red and 3 black balls. One ball is transferred randomly from Bag I to
Bag II and then a ball is drawn randomly from Bag II. If the ball so drawn is
found to be black in colour, then find the probability that the transferred ball is

also black.
Ans. E, = Event that the ball transfered from Bag I is Black
E, = Event that the ball transfered from Bag I is Red 1/2
A = Event that the ball drawn from Bag II is Black
5 3 A) 4 1 Al 3
P(E,)=—;P(E,)==;P| — |=—=—;P| — |=—
(£)-3p(e)-2ir 2] 3= or 2] -3 .

Class X1l Maths www.esaral.com 9
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Required Probability:

P(E,) P(Aj 5.1
P(E) B . - 82 .2 1
A A 51 33 29 1=
o el e + e
P(El) P[EIJ+P(E2) P[EZJ g 2733 2
OR
An urn contains 5 red, 2 white and 3 black balls. Three balls are drawn, one-
by-one, at random without replacement. Find the probability distribution of
the number of white balls. Also, find the mean and the variance of the number
of white balls drawn.
Ans. Let X =No. of white balls =0, 1, 2
X: 0 1 2 1/2
PX . _X_X_—l 3)(&)(1)(%—1 3)(3)(1)(§—L ll
()'l 15 10 9 8 15 10 9 8 15 2
X P(X): 0 l 3 1/2
() 15 15
XZP X) : 0 l i
(X): 15 15
Mean = X XP(X)=—=> 112
®any 15 5
11 [3T7 28
i = YXPX)-|XXPX) |=——|=| ==
Variance = 2. (x) [Z ( )} 15 {5} s 1
SECTION-D
Question numbers 33 to 36 carry 6 marks each.
1 2 3
33. IfA=|3 2 -2/, then find A! and use it to solve the
2 -1 1
following system of the equations:
Xx+2y-3z=6
3x+2y-2z=3
2x—y+z=2
01 2 01 2
. N B 1 1.1
Ans. |A|=7;adj(A)=|-7 7 -7|; A'=—adjA=—|-7 7 -7 Lo+
75 4 A N7 5 4
Class X1 Maths www.esaral.com 10
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The system of equations in Matrix form can be written as :

X 6
A-X=B,whereX=|y|;B=|3 1
z 2
X o 1 2]f6] [7 1
X=A"B=|y|=2|-7 7 -7||3|=2|-35|=|-5 1
z 7 5 —4||2| 7|-35| |-5
x=1y=-5,z=-5 1
OR

Using properties of determinants, prove that

(b+c)®> a’ be
(c+a)*> b> cal=(a—b)b—c)c—a)a+b+c)a’+b*+c?)

(a+b)> ¢ ab

b+c)® a® be
(

ANS (c+a)’ b> «ca

" |(a+b)* ¢ ab

b*+c® a’ be

_|c*+a® b’ ca

= ir & b (C1 —>C1—2C3) 1
a’+b’+c’ a’ be

_ la*+b*+c* b ca
- a2+ b2 +c? o2 ab (Cl_)C1+C2) 1

a’+b*+c? a’ be
_ 0 b>—a* ca-bc
- ’ T ST Ry Ry RR; SRR 2

a’+b*+c®  a’ bc
= (b—-a)(c—a) 0 b+a —c 1
0 c+a -b
Expand along C,
= (a2 +b’ +cz)(b—a) (c—a)(—b2 —ab+c’ +ac)

=(a—b)(b—c)(c—a)(a+b+c)(a2+b2+cz) 1

Class X1l Maths www.esaral.com 11
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34.  Using integration, find the area of the region bounded by the triangle whose
vertices are (2, —2), (4,5) and (6,2).

Ans. Let A(2,-2); B4, 5) ; C(6, 2)
Equations of the lines

6+ B(4, 5) 2 1
AB:x= 7(Y+9)

2 1
ce6,2 cx=——(y-11 1=
(6.2) BC:x=-2(y-1D 5
X’ > o X AC:x=y+4
- %(2 2 Correct graph ~ 1/2
y’ 5
2
ar(AABC) = j(y+4)dy+( ]j(y Ihdy—[Z(y+9)dy 2
=2
-+, - [y iy -2[y+or], 1=
2 7 2 2
=16+15-21=10 1/2
35.  Show that the height of the right circular cylinder of greatest volume which can
be inscribed in a right circular cone of height h and radius r is one-third of the
4
height of the cone, and the greatest volume of the cylinder is 9 times the
volume of the cone.
Ans. Let H = Height of cylinder
R = Radius of cylinder
T T >
h Volume of cone = 77 h 1/2
/r\
o V = Volume of cylinder = g R*H 1/2
h-H R T
~ —=— =—(h-H
AADF~AAEC = ——=—=R R( ) 1
r’ nr’ 0 2 2
~V=nH- —(h H) = " (F’ —2hH’ + HO?) 1
h
V/(H) = o (3H2 4hH +h?), V() =0=>H=" 141
nr’ h
"(H) = 6H —4h),V"| H=— |=
V() = 5 ( ). ( 3j
h 2
.V is max iff H=— and R ==
3 3
Class X1l Maths www.esaral.com
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36.

Volume of cylinder _ 3nR’H

=3
Volume of cone nr’h

4 h 1 4
9 3 r'h 9 172

Find the equation of the plane that contains the point A(2,1,—1) and is perpendicular to the

line of intersection of the planes 2x +y—z=3 and x+2y+z=2. Also find the angle

between the plane thus obtained and the y-axis.

Ans,

Ans,

Let equation of the required plane be:

1
a(x—2)+b(y—-1)+c(z+1)=0 15
Also : 2a+ b—c=0
a+t2b+c=0
Solving: & = =S =k =43k b=-3k c= 3k 12
olving: = = —=7 a=3k b=-3k,c= >
.. Equation of plane is : 3k(x—2) -3k(y—1) +3k(z+1)=0
1
= x-y+z=0 15

Let angle between y-axis and plane = 0

sinG—‘—O_HO _|=L :>6=sin1£L] 1
then, J+1+1| |3 NE) 2
OR

Find the distance of the point P(-2, —4, 7) from the point of intersection Q of the
line ¥ = (3{ — 23 + 612) + 7»(2{ L 3 + 212) and the plane f-(f — 3 + f() =6 . Also write the
vector equation of the line PQ.

General point on line is: T=(3+20)i+(—-2- A)j+(6+20)k 1
For the point of intersection:

[G+2mi+(-2- Wi+ ©E+20k](i-]+k)=6 1
=3+2A+2+A+6+2h=6=>A=-1 1
~Q>(-j+4k)=Q(1,-14) 1

PQ= 34/3 , equation of the line PQ : T = 21 —43 +7k + ]J.(3i + 33 - 31A<) 1+1

Class X1l Maths www.esaral.com 13
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QUESTION PAPER CODE 65/1/2
EXPECTED ANSWER/VALUE POINTS
SECTION -A
Question Numbers 1 to 20 carry 1 mark each.

Question Numbers 1 to 10 are multiple choice type questions.
Select the correct option.

Q.No. Marks
1. If Ais a 3 x 3 matrix and |A| = -2, then value of |A (adj A)| is
(A) -2 (B) 2 (C) -8 (D) 8
| Ans: (C) -8 | 1
2. The number of arbitrary constants in the particular solution of a differential
equation of second order is (are)
(A) 0 (B) 1 (€) 2 (D) 3
Ans: (A) 0 1

1
3. The principal value of cos™ (cos%}

13n T o T
() ®) 5 © 3 (D) <
T
Ans: (D) — 1
6
4. The corner points of the feasible region determined by the system of linear

inequalities are (0, 0), (4, 0), (2, 4) and (0, 5). If the maximum value of
z = ax + by, where a, b > 0 occurs at both (2, 4) and (4, 0), then
(A) a=2b (B) 2a=b (C) a=b (D) 3a=b

Ans: (A) a=2b 1

1 1
5. If A and B are two independent events with P(A) = 3 and P(B) = 10

then P(B’ | A) is equal to

1 1 3
A 5 ®) 5 © (D) 1

3
Ans: (C) 1 1

6. If A is a square matrix such that A2 = A, then (I — A)’ + A is equal to
(A) I (B) 0 C) 1-A (D) I+A
Ans: (A) 1 1

Class X1l Maths www.esaral.com 14
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~
e LIS

1 1
e sin (Xj dx, where x # 0 is equal to

| <

(A) 2 (B) 0 © ) 1 (D) =
Ans: (B) 0 1

8. The image of the point (2, —1, 5) in the plane T.i=0 is
(A) (_2: _15 5) (B) (25 la _5) (C) (_2a 1> _5) (D) (25 0, 0)
Ans: (A) (-2,-1,5) 1

9.  If the projection of @ =i-2j+3kon b =2+ Ak is zero ,
then the value of A is

-2 -3
(") 0 ®) 1 © & (©)

-2
Ans: (C) 3 1

10.  The vector equation of the line passing through the point (-1 , 5, 4)
and perpendicular to the plane z = 0 is

(A) T=—i+5]+4k+A(+) (B) r=—1+5j+@+Mk
(C) T =1i-5]-4k+2rk (D) T =2k
Ans: B) T =—i+5j+(4+M0k 1

Fill in the blanks in questions numbers 11 to 15

11. The position vectors of two points A and B are QA = I 3 _k and

OB = 2i - 3 + 212, respectivley. The position vector of a point P which

divides the line segment joining A and B in the ratio 2 : 1 is

Ans: 2i - j+k 1

12. The equation of the normal to the curve y* = 8x at the origin is

:
OR

The radius of a circle is increasing at the uniform rate of 3 cm/sec. At the

mstant when the radius of the circle is 2 c¢m, its area increases at the rate

cm?/s.

of
1

Class X1l Maths www.esaral.com 15
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13.  On applying elementary column operation C, — C, — 3C, in the matriax

4 -2 2 11 -1
equation L 3 } = {_3 4}{2 0}, the RHS (Right Hand Side) of the

equation becomes

2 1|1 -4
Ans: | 5 41l g 1

OR
A square matrix A is said to be symmetric if
| Ans: A=A’ | 1
14. Arrelation R in a set A is called , if (a,, a,) € R implies (a,, a,) € R,

foralla, a, € A.

| Ans: Symmetric | 1

15. The greatest integer fucntion defined by f(x) = [x], 0 < x < 2 is not
differentiable at x =

1

Question numbers 16 to 20 are very short answer type questions

16. If A is non-singular square matrix of order 3 and A? = 2A, then find
the value of | A |.

Ans: AP =8JA| 1/2
= |A|=8 1/2
17. Two cards are drawn at random and one-by-one without replacement from a

wll-shuffled pack of 52 playing cards. Find the probability that one card is red
and the other is black.

26C 26C 26
Ans: % =— 1/2+1/2
c, sl
3
18. Evaluate I [2x —1]dx
1
3 3 ! 3
Ans: j|zx—1|dx=j(2x—1)dx =[Z(2x—1)2} 1/2
1 1 1
=6 1/2

Class X1l Maths www.esaral.com 16
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dx
19. Find: | N

20. Find: j x* log x dx .

s 5
. I x

Ans: x* logxdx =logx —— [ —2-dx
J. & & 5 j x 5

B x> logx X’

——+cC
5 25
OR
2x
Find: dx .
J. Ix?+1
Ans: Let, x2+1=t
2xdx =dt

2x I D S V. S B V7
.[ ﬁd}(—‘[ adt—j t dt—Et +C

3/, 2/3
_E( +1) +c
SECTION-B
Question numbers 21 to 26 carry 2 marks each.

21. Find a unit vector perpendicular to each of the vectors @ and b

where G =5i+6j—2k and b=7i+6j+2k.

I L T
Ans: axb=|5 6 -2|=24i-24j-12k
7 6 2
. . _ - 22 2~ 14
Unit vector perpendicular to both a and b is El 3 J 3

OR

Find the volume of the parallelopiped whose adjacent edges are represented by

2d,—b and 3¢, where d=i—j+2k, b=3i+4j—5k and ¢=2i—j+3k

Class X1l Maths www.esaral.com
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2 -2 4

Ans: Volume of the parallelopiped = |3 4 5 1
6 -3 9

=|-24|=24 1

22. Examine the applicability of Rolle’s theorem for the function f(x) = sin 2x
in [0, t]. Hence find the points where the tangent is parallel to x-axis.

Ans: As, sine function and polynomial function are everywhere continuous
and differentiable.
(1) f(x) = sin 2x is continuous on [0, 7]
(i) f(x) = sin 2x is differentiable on (0, 7)
(iii) f(0) = 0 = f(n) 1

Rolle’s Theorem is applicable for f(x) = sin2x

Solving, f'(x)=0 or 2cos2x =0=cos2x =0

2x =2 3—n:>x—23—n 1/2
272 4’ 4
. . . n . 37-[
The points where the tangent is parallel to x-axis are: Zal ) T’_l 1/2
23. Find the values of x for which the fucntion f(x) = 2 + 3x — x? is decreasing.
Ans: f(x) is decreasing iff f'(x) <0 1
< 3-3x"<0orx” 21
< x<-lorx21 1
24. The probability of finding a green signal on a busy crossing X is 30%. What is the
probability of finding a green signal on X on two consecutive days out of three?
Ans: Probability of green signal on crossing X = 30 = 3 1
100 10
. . . 3 7
Probability of not a green signal on crossing X =1 BT = m

Probability of a green signal on X on two concecutative days out of three

3 3 7 7 3 3 63
= —X—X—+—X—X—=—— 1
10 10 10 10 10 10 500

Class X1l Maths www.esaral.com 18



https://amzn.to/3OwEosm
https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


*‘e’Sa Fa I JEE | NEET | CLASS 8 - 10 Download eSaral APP [

25 Prove that Sin”' (2)(\/1 —x? ) =2cos™! x,% <x<1

NG

Ans: Putx=cos 0 < 0=cos'x 1/2

L.H.S.=sin"! (ZXVI— x? )

= sin"!(2cos 0 sin ) = sin"!(sin 20) =20 =2cos 'x = R.H.S. 1—

N |-

OR

Consider a bijective function f:R, — (7,0) given by f(x)=16x> +24x +7,
where R is the set of all positive real numbers. Find the inverse function of f.

Ans: Lety=f(x)=16x>+24x+ 7= (4x+3)* -2 1
[y+2—
- f’l(y)=x=%3 1

26. Find the value of k so that the lines x =-y=kzandx-2=2y+1=-z+1
are perpendicular to each other.

1

Ans: The lines, =Y =2 ang 22202 2] 1
: e lines, —-=— T ; T _1
K

2

1 1
are perpendicular .. 1_5_E =0 => k=2 1

SECTION-C
Question numbers 27 to 32 carry 4 marks each.

27. A furniture trader deals in only two items — chairs and tables. He has ¥ 50,000 to
invest and a space to store at most 35 items. A chair costs him ¥ 1000 and a table
costs him ¥ 2000. The trader earns a profit of ¥ 150 and ¥ 250 on a chair and
table, respectively. Formulate the above problem as an LPP to maximise the
profit and solve it graphically.

Ans. Let No. of chairs = x, No. of tables =y

<

Then L.P. P. is:

x+2y=50
0 Maximize (Profit) : Z = 150x + 250y 1

Subject to: x + y <35
1000x + 2000y < 50000 = x+2y <50

C (35, 0)

ol 10 20 30% S X w20

y

x+y=35
Correct graph 1-

Class X1l Maths www.esaral.com 19
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Corner: Value of Z

A(0, 25) 6250

B(20, 15) 6750 (Max)

C(35,0) 35250 1/2
. Max (Z) =% 6750

Number of chairs = 20, Tables = 15

d2
28. Ifx=asec®0, y=a tan’0, then find d—}; at 0 = %
X

Ans dy dy/d9 3atan® Bsec’ 0 _sind ’
" dx dx/d0 3asec’Otan0

2
d_Z:COSe.@:—: 1-
dx dx 3asec”O-tan® 2
dyl _ 1
dx*|, = 12a 1/2

4
20, Find: | _ o T
34+ 2x — x2

J‘ 2x +1 dX— J' 2-2x

1
V3+2x-x? V3+2x—x> dx+3j V22— (x-1)? & 2

=2 3+2X—X2+3sin_1(XT_lj+c 2

30.  There are two bags, I and II. Bag I contains 3 red and 5 black balls and Bag II
contains 4 red and 3 black balls. One ball is transferred randomly from Bag I to
Bag II and then a ball is drawn randomly from Bag II. If the ball so drawn is
found to be black in colour, then find the probability that the transferred ball is
also black.

Ans. E, = Event that the ball transfered from Bag I is Black

E, = Event that the ball transfered from Bag I is Red 12
A = Event that the ball drawn from Bag II is Black
5 3 A}l 4 1 Al 3
P(E,)=—;P(E,)=—;P| — |=—=—;P| — |=—=
( 1) 8 ( 2) 3 (Elj g 2 [Ezj 3 2

Class X1l Maths www.esaral.com 20



https://amzn.to/3OwEosm
https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


*‘e’Sa Fa I JEE | NEET | CLASS 8 - 10 Download eSaral APP [

Required Probability:

P(El)-P[AJ 5.1
p[&j = E, = 8 2 = 20 1
A A A 51 33 29 1=
a2 pl ] S+
P(El) P(EIJ+P(E2) P[Ezj g 273’3 2
OR
An urn contains 5 red, 2 white and 3 black balls. Three balls are drawn, one-
by-one, at random without replacement. Find the probability distribution of
the number of white balls. Also, find the mean and the variance of the number
of white balls drawn.
Ans. Let X =No. of white balls=0, 1, 2
X 0 1 2 1/2
7 2 7 8 1 1
P(X —X—X—=— 3X —X—X—=— IX—x—X—=— 1—
()1 15 10 9 8 15 10 9 8 15 2
X -P(X): 0 7 2 1/2
(X): 15 15
(X): 15 15
Mean = ¥ XP(X)=— = > 12
Sy 155
11 [3T 28
i = YXPX)-| XXPX) |=——|=| ==
Variance = 2. (%) [Z (X) J 15 {5} 7 1
31. Find the general solution of the differential equation ye¥dx = (y3 +2xe)dy -
3 dy 3
Ans. y-e'dx= (y + 2xey)dy =y-e’ . vy’ +2xe’
X
d_X_EX — y2.e*y 1
dy y
. -ZIldY g ]
LF. (Integrating factor) = ¢ *¥ =e¢™* =¢ ¥ =— 1
Yy
*. Solution is
X-L:Jy2~e‘y~Ldy+c:Je‘ydy+c 1
y’ y’
Séz—e_y-fc or X:—yze_y+c}’2 1
y
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OR

Find the particular solution of the differential equation

dy y m
X—=y-—Xtan| = i =— =
ax y (X), given that ¥y 1 atx=1.

Ans. The differential equation can be written as:

dy y y dy dv

== —tan > = == =V+X—
x x X,lety Vx..dX Ix 1
dv 1
— V+X—=V-—tanV = cotvdv=-—dx
dx X
Integrate both sides
. .y C
log sinv =—log |x| + log c = log sin " = log 3 2
.y i
= X'sSin—=cC Put y=—andx=1
X 4
. T c 1
sin—=c¢ =—
= 1 or \/5 1/2
. . . [y 1
*. Particular solution is x-sin| = |=— 1/2
x) 2

32. Let N be the set of natural numbers and R be the relation on N X N defined by
(a, b) R (c, d) iff ad = bc for all a, b, ¢, d € N. Show that R is an equivalence relation.
Ans: Reflexive: Forany(a, b) € N x N
a-b=b-a
.. (a, b) R (a, b) thus R is reflexive 1
Symmetric: For (a, b), (¢, d) € N X N
(a,b)R(c,d) =a-d=b-c
=>c-b=d-a

= (¢, d) R (a, b) .. R is symmetric 1—

Transitive : For any (a, b), (¢, d), (e, f), e Nx N
(a,b) R (c,d) and (c, d) R (e, 1)
= a'd=b-candc-f=d-e
= ad-c-f=b-c-d-e=>a f=b-e¢

- (a,b) R (e, ), .. R is transitive 1-
. R is an equivalance Relation

Class X1l Maths www.esaral.com 22
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SECTION-D
Question numbers 33 to 36 carry 6 marks.

33.  Show that the height of the right circular cylinder of greatest volume which can
be inscribed in a right circular cone of height h and radius r is one-third of the

4
height of the cone, and the greatest volume of the cylinder is 9 times the

volume of the cone.
Ans. Let H = Height of cylinder

R = Radius of cylinder
(h-H) T
h n,
Volume of cone = —r'h 12
N 3
I V = Volume of cylinder = 71 R*H 1/2
h-H R r
~ -2 _ RrR=—(h-H
AADF ~AAEC = ——="=R R( ) 1
r’ »_ s 2 2
SV=mH s (h-H) =5 (H’—2hH’ +HR?) 1

2
r

I
h2

VI(H) = 25 (3H? — 4hH + 1), Vi) =0= H:g 141

2
mr

h) =nr?
V"(H) = F(6H = 4h) , V"(H=§j =?(—2h) <0 12

h 2r
s Vis max iff H=— and R =—
3 3
Volume of cylinder 37R’H . 4 h 14
Volume of cone nr’h 9 3 rh 9 1z
34.  Using integration, find the area of the region {(x, y) : X2 + y2 <9, x+y=>3}
Ans. Correct graph. 2
1 Required area
x+ty=3
3 3 3
:j 9—x2dx—j(3—x)dx 2
0 0
3
3 R 3 3
0 _x 9—x2+2sin1(3j Loy 11
2 2 \3)], 2 . 2
2y 9t 9 9
30 xty =9 =——=or —(n-2 1/2
v 4 4 ( ) /
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35.  Find the equation of the plane that contains the point A(2,1,—1) and is perpendicular to the
line of intersection of the planes 2x+y—z=3 and x+2y+z=2. Also find the angle
between the plane thus obtained and the y-axis.

Ans. Let equation of the required plane be:

1

a(x=2)+bly—1)+c(z+1)=0 15
Also : 2a+ b-c=0
a+2b+c=0

Solving: & = 2= S =k = 4= 3k b= 3k c - 3k 1>

olving: = = —>=7 a=3k,b=-3k,c= ;

.. Equation of plane is : 3k(x —2) -3k(y— 1) +3k(z+1)=0

= x-y+z=0 1-

Let angle between y-axis and plane = 0

Sin e = m = __1 = e = Sin71 [Lj 1 l
then, Ji+1+1| | B Ng) 2
OR

Find the distance of the point P(-2, —4, 7) from the point of intersection Q of the
line ¥ = (31— 2]j+6k)+A(2i— j+2k) and the plane 7(i—j+k)=6. Also write the
vector equation of the line PQ.

Ans. General point on line is: =3 +21)i+(=2- 1) j+(6+20)k 1
For the point of intersection:
[(3+2x)i+(—2— x)j+(6+2x)12]-(i—j+12)=6 1
3420+ 24+A+6+20=6=> A =-1 1
L Q>(i-j+4k)=Q(1,-14) 1

PQ= 33, equation of the line PQ : T = -2 —43 + 7k + u(3f + 3} - 312) 1+1

1 2 =3
36. IfA=|3 2 =2/, then find A! and use it to solve the
2 -1 1

following system of the equations:
X+2y-3z=6
3x+2y-2z=3

2x—y+z=2
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01 2 ) Joo2 11
Ans. |A|=7;adj(A)=|-7 7 -7|; A'=—adjA=—|-7 7 -7 I+1-+—
A 7 2 2

-7 5 4 -7 5 4

The system of equations in Matrix form can be written as :

X 6
A-X=B,whereX=|y|;B=|3 1
z 2
X 1 01 2|6 | 7 1
X=A"B=|y|=2|-7 7 -7||3|=2|-35|=|-5 1
z| T|=7 5 -af|2| 7|-35] |-5
x=1,y=-5,z=-5 1
OR

Using properties of determinants, prove that

(b+c)> a® be
(c+a)> b®> cal=(a—b)b-c)c—a)a+b+c)a®+b’+c?)

(a+b)?> ¢* ab

(b+c)> a’ be
Ans (c+a)> b’ ca
" (at+b)® ¢ ab
b*+c* a® be

_ |c*+a? b* ca
o A (C, > C, -2, 1

a’+b’+c* a’ be
a’+b*+c? b? ca

= C,—>C,+C 1
a2+b2+cz Cz ab ( 1 1 2)
a’+b*+c? a’ be
0 b*—a’ ca—bc
= R,—-R,-R,,R,—>R,-R 2
0 C—a> ab—be R, 27 N3 37 Ry
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a’+b’+c> a® be
= (b—a)(c—a) 0 b+a -c 1
0 c+a -b
Expand along C,
= (a2 +b’? +c2)(b—a) (c—a)(—b2 —ab+c’ +ac)

= (a—b) (b-c)(c—a)(a+b+c)(a’+b*+c?) 1
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QUESTION PAPER CODE 65/1/3
EXPECTED ANSWER/VALUE POINTS
SECTION-A
Question Numbers 1 to 20 carry 1 mark each.

Question Numbers 1 to 10 are multiple choice type questions.
Select the correct option.

Q-.No. Marks
2 -1 3
1. The matrix A 10 Z is not invertible for

(A) A=-1 (B) =0 (©) A=1 (D) L e R— {1}
| Ans: (C) a=1] 1
2. The number of arbitrary constants in the particular solution of a differential
equation of second order is (are)
(A) O B)1 ©) 2 (D) 3

[N

Ans: (A) 0

T .
3. The value of tan™! | tan— | i

6
A % ® 5 © 3 ©
6 2 3 6
T
Ans: (A) — 1
6
4, The corner points of the feasible retgion determined by the system of linear

inequalities are (0, 0), (4, 0), (2, 4) and (0, 5). If the maximum value of
z = ax + by, where a, b > 0 occurs at both (2, 4) and (4, 0), then

(A) a=2b (B) 2a=b (C) a=b (D) 3a=b
Ans: (A) a=2b 1
. : 1 1
5. If A and B are two independent events with P(A) = 3 and P(B) = 1
then P(B’ | A) is equal to
A 1 B 1 C 3 D) 1
A 4 B) 3 © 5 (D)
Ans: (C 3 1
5 (0
6. If A is a square matrix such that A> = A, then (I — A)’ + A is equal to
A) I (B) o ©C I1-A (D) I+A
Ans: (A) 1 1
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t log x )
I dx, is equal to
1

X

2

e 1
A - (B) 1 ©) 3 (D) -

1
Ans: (C) 5 1

8. A point P lies on the line segment joining the points (-1, 3, 2) and (5, 0, 6).
If x-coordinate of P is 2, then its z-coordinate is

(A) -1 ®) 4 © 3 ©) 8
Ans: (B) 4 1

9. If the projection of 3 :f_zj +3kon b =21+ Ak is zero , then the value of A is

-2 -3
(A) 0 ®) 1 © + ©)

-2
Ans: (C) 3 1

10.  The vector equation of the line passing through the point (-1 , 5, 4) and perpendicular to
the plane z =0 is

(A T=-i+5]+4k+1i+) B) T=-i+5j+@+0k
(C) T =i-5j-4k+2rk (D) T =k
Ans: (B) T =—i+5)+(4+Nk 1

Fill in the blanks in question numbers 11 to 15

11. The position vectors of two points A and B are QA = 2 _ 3 _k and

OB = 2i - 3 + 212, respectivley. The position vector of a point P which

divides the line segment joining A and B in the ratio 2 : 1 is

Ans: 2i-j+k 1

12. The equation of the normal to the curve y> = 8x at the origin is .
1
OR

The radius of a circle is increasing at the uniform rate of 3 cm/sec. At the
instant when the radius of the circle is 2 cm, its area increases at the rate

of cm?/s.

1
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13. If Ais a square matrix of order 3 and Aij is the cofactor of the element A,
then value of a,; A, +a,, A, Ta,; A s

| 1

OR
If the matrix A is both symmetric and skew symmetric, then A is a

|AnS: Zero matrix | 1

14. A relation R in a set A is called , if (a;, a)) € R implies (a,, a,) € R,
foralla, a, € A.

|Ans: Symmetric | 1

15. The greatest integer fucntion defined by f(x) = [x], 0 < x < 2 is not
differentiable at x =

1
Question numbers 16 to 20 are very short answer type questions

16. If Ais a square matrix of order 3 and |A| = 2, then find the value of | —AA’ |.

Ans: |_AA'| = _|A|2 1/2
=_4 1/2

17. Two cards are drawn at random and one-by-one without replacement from a
well-shuffled pack of 52 playing cards. Find the probability that one card is red
and the other is black.

26C 26C 26
Ans: %z— 1/2+1/2
c, sl
3
18. Evaluate: J|2X—1‘dx.
1
3 3 1 3
Ans: J|2x—l|dx=J(2x—l)dx:[Z(Zx—l)z} 12
1 1 1
=6 172
' J' dx
19. Find : \/m
dx dx
Ans: = 1/2
J\/9—4x2 J.\/32—(2x)2
=%sin_l (ZTX)+ C 1/2
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20. Find: f x* log x dx .

Ans: IX4.10 xdx = lo X.X_S_I l.ﬁdx 112
& & 5 X 5
5. 5
_xlogx X' 2
5 25
OR
2x
Find: | ——dx.
J.\3/)(2+1
Ans: Let, x> +1=t
2xdx =dt 172

dt =j 13t =%t2/3 +c

2 1
i
:%(x2 +1)2/3 +c 1/2

SECTION-B

Question numbers 21 to 26 carry 2 marks each.

21. Find a unit vector perpendicular to each of the vectors a and b

where 3 =5i+6j-2k and b=7i+6j+2k.

I
Ans: axb=|5 6 -2|=24i-24j-12k 1
7 6 2
) ) o - 22 24 1-
Unit vector perpendicular to both a and b is gl—gj—gk 1
OR

Find the volume of the parallelopiped whose adjacent edges are represented by

2d,-b and 3¢, where @ =i—]j+2k, b=3i+4j-5k and ¢=2i-j+3k

2 -2 4

Ans:  Volume of the parallelopiped =|_3 _4 35 1
6 -3 9

=|-24|=24 1
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TCZ
22. Iff(x) = \Jtan Vx , then find f' [mj .

2
Ans:  f'(x) :ﬂ 1
4\/;\/ tan(v/x)
f’(ij 2.2
16) 4, & = 1
4
23. Using differentials, find the approximate value of v25-3 up to two places
of decimals.
Ans: Let y:f(x):\/;, Let x=25,x+Ax=25.3,Ax=0.3 1
dy 1
Ay=— Ax=——=—(0.3)=0.03
Y dx )y _ys 2@ 1/2
\25.3 =1(25)+ Ay =5+0.03 = 5.03 (approx.) 172
24. The probability of finding a green signal on a busy crossing X is 30%. What is the
probability of finding a green signal on X on two consecutive days out of three?
Ans:  Probability of green signal on crossing X = 30_3 1
100 10
Probability of not a green signal on crossing X =1 _% = %
Probability of a green signal on X on two concecutative days out of three
3,371,733 6 .
1010 10 10 10 10 500
25.  Prove that sin™' (2X\/1 -x? ) =2cos ' x, T <x<
Ans: Putx=cos 0 < 0 =cos'x 1/2
LHS. = sin” (2xV1-x7)
1
= sin"'(2cos O sin 0) = sin"!(sin 20) =26 =2cos 'x = R.H.S. 15
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OR

Consider a bijective function f:R, —(7,0) given by f(x)= 16x% +24x+7,
where R, is the set of all positive real numbers. Find the inverse function of f.

Ans: Lety=f(x)=16x>+24x+7=(4x+3)*-2 1
2—
- f’l(y)=x=—vy+43 1

26. Find the value of k so that the lines x =-y=kzandx —-2=2y+1=-z+1
are perpendicular to each other.

1

] X y z x—2 y+5 z—1
Ans: Thelmes,T=_—1=T and B T == 1
k 2
. 11
are perpendicular .. 1_E_E:O =k=2 1
SECTION-C

Question numbers 27 to 32 carry 4 marks each.

27. A furniture trader deals in only two items — chairs and tables. He has ¥ 50,000 to invest
and a space to store at most 35 items. A chair costs him ¥ 1000 and a table costs him
% 2000. The trader earns a profit of ¥ 150 and ¥ 250 on a chair and table, respectively.
Formulate the above problem as an LPP to maximise the profit and solve it graphically.

Ans. Let No. of chairs = x, No. of tables =y
Then L.P. P. is:
Maximize (Profit) : Z = 150x + 250y 1

<

X +2y=50 0 Subjectto : x +y < 35

1000x + 2000y < 50000 = x +2y <50 1
x,y=0

(0, 25)

B (20, 15)

C (35, 0) )
T ol 10 20 30 Q S0 X Correct graph 1E
Y Xx+y=35 Corner: Value of Z

A(0, 25) 36250
B(20, 15) %6750 (Max) 1/2
C(35,0) 35250

.. Max (Z) =% 6750

Number of chairs = 20, Tables = 15
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2
28. Ifx=a(B-sin0),y=a(l—cos0),a>0, then find dy atg ="
dx? 3
Ans. %:asiHO, j%za(l—cos 0)
2si 6 0
dy sin© sin E COS 5
—_— = ZCOt_
dx I-cos® 520 2
2 coseczﬁ
d_zz__. cosec2 240 T o
dx 2 2 dx 2a(l1—cos0)
Syl L4 _ 4
dx? 0

w

29.  Evaluate _[ e" dx ag limit of the sums.
2

Ans. Let f(x)=¢e*,a=1,b=3,nh=2, ...
f()+f(A+h)+f(1+2h)+....+f(1+(n—-1h)

nh
- e(e” —1
— e_|_el+h +el+2h +. +el+(n 1)h — ( )
el —1

3 nh

je"dx = lim h'@z e(e’—1)ore’ —e
h—0 e —1

30.  There are two bags, I and II. Bag I contains 3 red and 5 black balls and Bag I1
contains 4 red and 3 black balls. One ball is transferred randomly from Bag I to
Bag II and then a ball is drawn randomly from Bag II. If the ball so drawn is
found to be black in colour, then find the probability that the transferred ball is
also black.

Ans. E, = Event that the ball transfered from Bag I is Black

E, = Event that the ball transfered from Bag I is Red
A = Event that the ball drawn from Bag II is Black

5 3. (A) 4 1 (A) 3
P(E,)=>;P(E,)==;P| — |===—;P| — |=2
(E) 8’ (E.) 8’ [EJ 8 2’ (Ezj 8
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Required Probability:

P(E,)- P(Aj 5.1
A A A 51 33 929 1=
. el A 4=
P(E,) P[EJ+P(E2) P[EJ e 3t33 2
OR
An urn contains 5 red, 2 white and 3 black balls. Three balls are drawn, one-
by-one, at random without replacement. Find the probability distribution of
the number of white balls. Also, find the mean and the variance of the number
of white balls drawn.
Ans. Let X =No. of white balls=0, 1, 2
X: 0 1 2 1/2
8 7 6 17 8 7 2 17 2 1 8 1 1
P(X): —X—Xo=—" 3X—X—X—=— 3Xx —x—x—=— 1=
10 9 8 15 10 9 8 15 10 9 8 15 2
X -P(X): 0 l 3 1/2
(X): 15 15
(X): 15 15
Mean = £ XP(X) = => 12
ean = 153
, ) ,7 11 [3T 28
Variance = 2> X P(x) —[ZXP(X) J 55l =7 1
31.  Find the general solution of the differential equation ye’dx = (y3 +2xe¥)dy -
oY =+ y o~ dy — 3 y
Ans. y-e'dx (y + 2xe )dy =>ye —=y +2xe
dx
d_X _ E X = y2.e*y 1
dy y
. -Zfldy 10?% 1
LF. (Integrating factor) = ¢ ¥ =e?*® =¢ ¥ =— 1
y
", Solution is
x-L=J‘y2'e’y'idy+c=.|‘e’ydy+c 1
y’ y’
3%:—@7}'-{-0 or X:_yzeiy'kcyz 1
y
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OR

Find the particular solution of the differential equation

dy y n
X—=y—Xtan| = i =— =
dx y (X], given that ¥ 1 atx=1.

Ans. The differential equation can be written as:

dy vy y dy dv
—==—tan> lety= s ——=V+X— 1
dx x x’ cty=vx dx dx
dv 1
= V+Xx—=V—tanV — cotvdv=——dx
dx X
Integrate both sides
. .Y c
log sinv =—log |x| + log ¢ = log sin’ = log N 2
.y s
= X'sm==cC Put y=—andx=1
X 4
. T . 1
sin—=c¢ =—=
= 4 or \/5 1/2
. . - . [y 1
*. Particular solution is x-sin| = |=— 1/2
x) 2

32. Let N be the set of natural numbers and R be the relation on N x N defined by
(a, b) R (c, d) iff ad = bc for all a, b, ¢, d € N. Show that R is an equivalence relation.
Ans: Reflexive: Forany(a,b) € N xN
a-b=b-a
. (a, b) R (a, b) thus R is reflexive 1
Symmetric: For (a, b), (¢, d) € N x N
(a,b)R(c,d) >a-d=b-c
=c-b=d-a

= (c,d) R (a, b) .. R is symmetric 1-

Transitive : For any (a, b), (¢, d), (e, f), e Nx N
(a,b) R (c,d) and (c, d) R (e, f)
= a-d=b-candc-f=d-e
=>a-d-c-f=b-c-d-e =>a f=b-e

- (a,b) R (e, f), .. Ris transitive 1—
. R is an equivalance Relation
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SECTION-D
Question numbers 33 to 36 carry 6 marks each.

33.  Show that the height of the right circular cylinder of greatest volume which can
be inscribed in a right circular cone of height h and radius r is one-third of the
4
height of the cone, and the greatest volume of the cylinder is 9 times the

volume of the cone.
Ans. Let H = Height of cylinder
R = Radius of cylinder

=
Z
T

T »
Volume of cone = Er h 1/2

V = Volume of cylinder = zR*H 1/2

«— >

h-H R r
C AADF ~AAEC = ——=—"= R:E(h—H) 1

I‘2

2
Tr
V= n~H~?(h—H)2 :?(H3 ~2hH’+Hh) 1

2
VI(H) = T (3H ~4hH+ 1), Vi) =0= H=2 141

2

Tr . h) =nr’
V'(H) = —5(6H-4h),V (H=— =—-(2h)<0 12
h 3 h
h 2
o, Vis max iff H=— and R =
3 3
Volume of cylinder 3nR’H 3 4 h 14
Volume of cone nr’h 3 r’h 9 172

34,  Using integration, find the area of the region enclosed by the parabola y = 3x?
and the line 3x—y+ 6= 0.

Ans, y
1 . Points of intersection x = —1, 2 1
Correct Graph 1
Required area
2 2
= I3(x+2)dx—3jx2dx 2
-1 -1
3 2 2 3 2 1
= sl 2] [ ], 15
<+t z 51 l + » X 3 27
4 9 - 2 4
v = —x15-9=—
5 5 1/2
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35.  Find the equation of the plane that contains the point A(2,1,—1) and is perpendicular to the
line of intersection of the planes 2x +y—z=3 and x+2y+z=2. Also find the angle
between the plane thus obtained and the y-axis.

Ans. Let equation of the required plane be:

1

a(x—2)+bly—D+c(z+1)=0 15
Also : 2a+ b-c=0
at2b+c=0

Solving: & = 2 ==k =43k b= 3k c -3k 11

olving: 3 3 3 a= ,b=-3k,c= 5

.. Equation of plane is : 3k(x —2) -3k(y—1) +3k(z+1)=0

= x-y+z=0 1-

Let angle between y-axis and plane = 0

then, VI+1+1 NE) NG 2
OR

Find the distance of the point P(-2, —4, 7) from the point of intersection Q of the
line ¥ = (31—2j+6k)+A(2i—j+2k) and the plane 7-(i—j+k)=6. Also write the
vector equation of the line PQ.

Ans. General point on line is: T=(3+2A)i+(=2— 1) ]+ (6+20)k 1
For the point of intersection:
[(3+2x)i+(—2— x)j+(6+2x)12]-(i—j+12)=6 1
=S34+2A+24+A+6+2A=6=> A =—1 1
L Q(i-]+4k)=Q(1,-1,4) 1

PQ= 3\/5, equation of the line PQ : T = -2 —43 +7k + p(3f + 3} — 3ﬁ) 1+1

1 2 3
36. IfA=|3 2 -2, thenfind A' and use it to solve the
2 -1 1

following system of the equations:
X+2y—-3z=6
3x+2y—-2z=3

2x—y+z=2
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01 2 : o 2 11
Ans. |A|=7;adj(A)=|-7 7 -7|; A'=—adjA==|-7 7 -7 I+1-+—
75 4 Al N7 5 4 2 2

The system of equations in Matrix form can be written as :

X 6
A-X=B,where X=|y|;B=|3 1
Z 2
x] o1t 2y6] (7 1
X=A"B=|y|=2|-7 7 -7||3|=5|-35|=|-5 1
z| T=7 5 —all2| 7|35 |-5
x=1,y=-5,z=-5 1
OR

Using properties of determinants, prove that

(b+c)® a’ be
(c+a)> b®> ca|=(a—b)(b—c)(c—a)a+b+c)a’+b>+c?)
(a+b)> ¢ ab

b+c)> a® be
(

ANS (c+a)® b° ca

" l(atb)® ¢ ab

b’+c* a’ be

_|c*+a? b* ca

o A (C; > C,-2C;, 1
a’+b*+c® a’ be

_la*+b*+c® b? ca
a2+ i+ ¢ ab € =6 +C) !

a’+b*+c? a’ be
_ 0 b?—a’ ca—bc
= 0 o a’ abbo R, >R, -R,;,R; >R;-R)) 2

a’+b*+c’ a bc
= (b—a)(c—a) 0 b+a -—c 1
0 c+a -b
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Expand along C,

= (a*+b*+¢’)(b-a) (c—a)(~b* —ab+c’ +ac)

= (a-b)(b—c)(c—a)(a+b+c)(a’+b’ +c*) 1
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